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2) HE—RERZEZIDKE (EEEEZTED)
EH) S EESTFREELEEE
(1) $£1EE WE) (20 1) (S5 EE)

& tEM PETT =8 FEEHKET e AT
A % A % % % A % A %

2 % EF K 377 100.0 168 100.0 81 100.0 37 100.0 37 100.0 54 100.0
YEIR 1658 K i 369 97.9 165 98.2 81 100.0 36 97.3 37 100.0 50 92.6
s [EIRI6~20BK 3 0.8 2 1.2 0 0.0 0 0.0 0 0.0 1 1.9
B;;; 1E8R20~ 243B K 3 0.8 1 0.6 0 0.0 0 0.0 0 0.0 2 3.7
BEIR2458 LA R 2 0.5 0 0.0 0 0.0 1 2.7 0 0.0 1 1.9
KA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REBEDLERESHY 1 0.3 0 0.0 0 0.0 1 2.7 0 0.0 0 0.0
RO HENE 122 32.4 59 35.1 24 29.6 12 32.4 9 24.3 18 33.3
BIE |80 HEE 1 0.3 0 0.0 0 0.0 0 0.0 0 0.0 1 1.9
REBEDBHL 250 66. 3 108 64.3 57 70. 4 22 59.5 28 75.7 35 64.8
KEA 3 0.8 1 0.6 0 0.0 2 54 0 0.0 0 0.0
oL 374 99. 2 165 98.2 81 100.0 37 100.0 37 100.0 54 100.0
H Y 3 0.8 3 1.8 0 0.0 0 0.0 0 0.0 0 0.0
LS 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
] B1EUE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
0 2 0.5 2 1.2 0 0.0 0 0.0 0 0.0 0 0.0
£EA 1 0.3 1 0.6 0 0.0 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
g oL 347 92.0 160 95.2 75 92.6 33 89.2 31 83.8 48 88.9
g &3_ Y 29 7.7 8 4.8 6 7.4 4 10.8 5 13.5 6 1.1
KEA 1 0.3 0 0.0 0 0.0 0 0.0 1 2.7 0 0.0
R H 3 53 14.1 21 12.5 15 18.5 2 5.4 6 16.2 9 16.7
g%i R 313 83.0 142 84.5 62 76.5 35 94.6 30 81.1 44 81.5
REA 11 2.9 5 3.0 4 4.9 0 0.0 1 2.7 1 1.9
Skgll £ 5 1.3 3 1.8 0 0.0 1 2.7 0 0.0 1 1.9
0~5kgR D 157 41.6 71 42.3 32 39.5 14 37.8 15 40.5 25 46.3
k& [0~bkeRFHNDHE 208 55.2 92 54.8 48 59.3 22 59.5 20 54. 1 26 48.1
i [5~10kgR BN 6 1.6 2 1.2 1 1.2 0 0.0 1 2.7 2 3.7
10kgkl £ i 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REA 1 0.3 0 0.0 0 0.0 0 0.0 1 2.7 0 0.0
KI139LUTF /MBI 370 98. 1 164 97.6 81 100.0 36 97.3 36 97.3 53 98. 1
mE |A140~159 /1n90~99 6 1.6 4 2.4 0 0.0 1 2.7 1 2.7 0 0.0
(mmHg) [ K160 £ /N00LLE 1 0.3 0 0.0 0 0.0 0 0.0 0 0.0 1 1.9
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
-+ 358 95.0 159 94.6 79 97.5 35 94.6 35 94.6 50 92.6
f +LE 19 5.0 9 5.4 2 2.5 2 54 2 5.4 4 7.4
R REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
— 359 95.2 162 96. 4 77 95. 1 35 94.6 35 94.6 50 92.6
FE(xLE 17 4.5 6 3.6 4 4.9 2 5.4 1 2.7 4 7.4
KEA 1 0.3 0 0.0 0 0.0 0 0.0 1 2.7 0 0.0
10 k& 1 0.3 1 0.6 0 0.0 0 0.0 0 0.0 0 0.0
10.0~10.5 ki 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
10.5~11.0 k& 8 2.1 4 2.4 2 2.5 0 0.0 1 2.7 1 1.9
‘fg;ﬁf)‘ 11.0~12.0 k& 71 18.8 24 14.3 19 23.5 6 16.2 10 27.0 12 22.2
12 Lk 297 78.8 139 82.7 60 74.1 31 83.8 26 70.3 A 75.9
RERE 0 0.0 0 0 0 0.0 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
BELL 355 94.2 158 94.0 75 92.6 35 94.6 35 94.6 52 96.3
ERBHRE 5 1.3 0 0.0 2 2.5 2 5.4 0 0.0 1 1.9
miE |EEB 16 4.2 10 6.0 3 3.7 0 0.0 2 5.4 1 1.9
RERE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
XN 1 0.3 0 0.0 1 1.2 0 0.0 0 0.0 0 0.0
~5. 6% 342 90.7 153 91.1 75 92.6 33 89.2 34 91.9 47 87.0
5.6~5. 9K 27 7.2 14 8.3 3 3.7 3 8.1 2 5.4 5 9.3
WAl |2 9~6- 5K 5 1.3 0 0.0 2 2.5 1 2.7 0 0.0 2 3.7
6.5L1F 1 0.3 1 0.6 0 0.0 0 0.0 0 0.0 0 0.0
RERE 1 0.3 0 0.0 0 0.0 0 0.0 1 2.7 0 0.0
KA 1 0.3 0 0.0 1 1.2 0 0.0 0 0.0 0 0.0
- 371 98. 4 166 98.8 80 98.8 37 100.0 37 100.0 51 94. 4
2E |+ 4 1.1 1 0.6 0 0.0 0 0.0 0 0.0 3 5.6
KA 2 0.5 1 0.6 1 1.2 0 0.0 0 0.0 0 0.0
BELL 374 99. 2 168 100.0 79 97.5 37 100.0 37 100.0 53 98. 1
RER|EEHY 2 0.5 0 0.0 1 1.2 0 0.0 0 0.0 1 1.9
BRE [REHEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
KA 1 0.3 0 0.0 1 1.2 0 0.0 0 0.0 0 0.0
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2) IHE-RERZEZZRR (EEEEERERS)
HH) A5 FEBTREELHET
(D) H1EE @E) (202) (BH5 E£E)
EX tEm FIMET EEHET FEEKET HhEE B ET
A % A % A % N % A % A %
2B E M 377 | 100.0 168 | 100.0 81| 100.0 37| 100.0 37| 100.0 54 | 100.0
() SR e 16 4.2 6 3.6 4 4.9 2 5.4 1 2.7 3 5.6
ALA | i P o 167 44.3 79 47.0 37 45.7 17 45.9 12 32.4 22 4.7
i | D) EEE 193 51.2 83 49.4 39 48.1 18 48.6 24 64.9 29 53.7
FEEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
ESON i 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B 375 99.5 168 | 100.0 80 9.8 37| 100.0 36 97.3 54 | 100.0
B % 1 0.3 0 0.0 0 0.0 0 0.0 i 2.1 0 0.0
e | [eermmazs 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
e | |BenEREXED 1] 100.0 0 0.0 0 0.0 0 0.0 i 0.0 0 0.0
FERE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
ESON i 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B 376 99.7 168 | 100.0 80 9.8 37| 100.0 37 100.0 54 | 100.0
H}ECWV Bt 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
Bn [REEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
ESON i 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B 375 99.5 168 | 100.0 80 9.8 37| 100.0 36 97.3 54 | 100.0
E%‘E B % 1 0.3 0 0.0 0 0.0 0 0.0 i 2.7 0 0.0
T |REEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
ESON 1 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B % 376 99.7 168 | 100.0 80 98.8 37 | 100.0 37 | 100.0 54 | 100.0
";EIWV BB 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
e [REEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REA 1 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B % 375 99.5 168 | 100.0 80 98.8 37 | 100.0 36 97.3 54 | 100.0
ML [EaE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
B [RERE i 0.3 0 0.0 0 0.0 0 0.0 i 2.7 0 0.0
REA 1 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
B % 374 99.2 167 99.4 80 98.8 37 | 100.0 36 97.3 54 | 100.0
B % 3 0.8 i 0.6 i 1.2 0 0.0 i 2.1 0 0.0
MEET 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
BRTE 352 93.4 153 911 77 9.1 34 919 35 9.6 53 981
BHR (1) 23 6.1 15 8.9 3 3.7 2 5.4 2 5.4 i 1.9
TER ERR (2) 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
o [HETE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
RERE i 0.3 0 0.0 0 0.0 i 2.7 0 0.0 0 0.0
RiEA i 0.3 0 0.0 i 1.2 0 0.0 0 0.0 0 0.0
REGL 328 87.0 151 89.9 72 88.9 33 89.2 23 62.2 49 9.7
REHY 49 13.0 17 10,1 9 1.1 4 10.8 14 37.8 5 9.3
we | [EEBEE 14 3.7 3 1.8 3 3.7 i 2.7 4 10.8 3 5.6
ZRERE 15 4.0 6 36 3 3.7 2 5.4 4 10.8 0 0.0
AR (P) 20 5.3 8 4.8 3 3.7 i 2.7 6 16.2 2 3.7
RiEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
VIR ML 1B 3 0.8 0 0.0 2 2.5 0 0.0 i 2.7 0 0.0
BME 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
EER 3 0.8 0 0.0 2 2.5 0 0.0 i 2.7 0 0.0
R REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
bUPE m 3 0.8 2 1.2 0 0.0 0 0.0 0 0.0 i 1.9
R |ERR 6 1.6 0 0.0 i 1.2 i 2.7 4 10.8 0 0.0
ERER 9 2.4 4 2.4 i 1.2 i 2.7 2 5.4 i 1.9
oM 4 11 0 0.0 i 1.2 0 0.0 3 8.1 0 0.0
YERE 4 11 0 0.0 i 1.2 0 0.0 3 8.1 0 0.0
-~ aEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
% AIE RS 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
a EON 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
= [zof 25 6.6 1 6.5 5 6.2 i 2.7 4 10.8 4 7.4
RiEA 5 1.3 3 1.8 i 1.2 i 2.7 0 0.0 0 0.0
ERBEEREEGREE (EAR)
2HEH 2 0.5 0 0.0 2 2.5 0 0.0 0 0.0 0 0.0
HE~| |EETE 128 34.0 61 36.3 30 37.0 9 24.3 1 20.7 17 31.5
oE | B#LL 224 59.4 106 63.1 37 45.7 27 73.0 19 51.4 35 64.8
FE | [xmA 23 6.1 i 0.6 12 14.8 i 2.7 7 18.9 2 3.7
REESDFE (EAR)
7L 354 93.9 165 98.2 72 88.9 36 97.3 30 811 51 9.4
- b Y 4 11 2 1.2 0 0.0 0 0.0 i 2.1 i 1.9
% REA 19 5.0 i 0.6 9 1.1 i 2.7 6 16.2 2 3.7
2 [AEE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
< [zoft 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0

-68-




2) @BR—REEZEZZDAR (ERBERRD)
BRSNS FERTRRELREE

(2) E8EE (B (F01) (%705 € )
= tEM PRl SEE EEEKET hEE AT

A % A % A % A % A % A %
2 2 E K 388 100. 0 167 100. 0 88 100. 0 38 100. 0 38 100.0 57 100.0
T UR305E K it 62 16.0 35 21.0 8 9.1 7 18.4 2 5.3 10 17.5
T [HEIR30~3TERS 286 73.7 113 67.7 70 79.5 28 73.7 36 94.7 39 68.4
B |BEOR32:E LARE 40 10.3 19 1.4 10 1.4 3 7.9 0 0.0 8 14.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
RBELEEHY 1 0.3 0 0.0 1 1.1 0 0.0 0 0.0 0 0.0
R D HELE 112 28.9 56 33.5 21 23.9 8 21.1 11 28.9 16 28.1
E | o) HELE 7 1.8 0 0.0 7 8.0 0 0.0 0 0.0 0 0.0
REBELEL 253 65. 2 107 64. 1 53 60. 2 28 73.7 25 65.8 40 70.2
REEA 15 3.9 4 2.4 6 6.8 2 5.3 2 5.3 1 1.8
L 380 97.9 164 98.2 84 95.5 38 100.0 38 100. 0 56 98.2
HY 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
&8 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
2E B1ELE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
Z0hs 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REEA 8 2.1 3 1.8 4 4.5 0 0.0 0 0.0 1 1.8
et HL 342 88. 1 149 89.2 73 83.0 38 100.0 32 84.2 50 87.7
nEs|2Y 31 8.0 13 7.8 9 10.2 0 0.0 4 10.5 5 8.8
REA 15 3.9 5 3.0 6 6.8 0.0 5.3 2 3.5
) H5 26 6.7 9 5.4 10 1.4 2 5.3 2 5.3 3 5.3
g%i i 332 85.6 146 87.4 68 77.3 34 89.5 33 86.8 51 89.5
REA 30 7.7 12 7.2 10 1.4 2 5.3 3 7.9 3 5.3
kgl £ D 1 0.3 1 0.6 0 0.0 0 0.0 0 0.0 0 0.0
0~5keR B D 8 2.1 1 0.6 3 3.4 2 5.3 1 2.6 1 1.8
wEQ |0~BkeRBD 92 23.7 39 23.4 13 14.8 10 26.3 13 34.2 17 29.8
R |5~10kgRFmDE 216 55.7 97 58. 1 57 64.8 15 39.5 20 52.6 27 47.4
10kg LA £ 1 70 18.0 29 17.4 14 15.9 1 28.9 4 10.5 12 21.1
REEA 1 0.3 0 0.0 1 1.1 0 0.0 0 0.0 0 0.0
K139 IN8ILLT 381 98.2 167 100.0 84 95.5 37 97.4 37 97.4 56 98.2
MmE |X140~159 /~90~99 7 1.8 0 0.0 4 4.5 1 2.6 1 2.6 1 1.8
(mmHg) | K T60LLE  /MO0LLE 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
- =+ 370 95.4 156 93.4 86 97.7 37 97.4 36 94.7 55 96.5
§ +uk 17 4.4 11 6.6 2 2.3 1 2.6 2 5.3 1 1.8
Rias || REA 1 0.3 0 0.0 0 0.0 0 0.0 0 0.0 1 1.8
— 364 93.8 153 91.6 84 95.5 36 94.7 38 100.0 53 93.0
- EE 24 6.2 14 8.4 4 4.5 2 5.3 0 0.0 4 7.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
10 %% 37 9.5 12 7.2 10 1.4 3 7.9 7 18.4 5 8.8
10.0~10.5 k& 51 13.1 22 13.2 11 12.5 4 10.5 7 18.4 7 12.3
Mm% |[10.5~11.0 %% 67 17.3 26 15.6 20 22.7 9 23.7 5 13.2 7 12.3
(&/d 1)[11.0~12.0 %% 149 38.4 59 35.3 32 36.4 19 50.0 14 36.8 25 43.9
12 LU E 83 21.4 48 28.7 14 15.9 3 7.9 5 13.2 13 22.8
REHEE 1 0.3 0 0.0 1 1.1 0 0.0 0 0.0 0 0.0
REA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
BEAL 351 90.5 154 92.2 80 90.9 35 92. 1 31 81.6 51 89.5
ERBHE 14 3.6 2 1.2 2 2.3 2 5.3 2 5.3 6 10.5
miE |ErER 20 5.2 11 6.6 3 3.4 1 2.6 5 13.2 0 0.0
REHEE 2 0.5 0 0.0 2 2.3 0 0.0 0 0.0 0 0.0
REEA 1 0.3 0 0.0 1 1.1 0 0.0 0 0.0 0 0.0
- 363 93. 6 158 94. 6 78 88. 6 38 100.0 38 100.0 51 89.5
2E | + 23 5.9 8 4.8 10 1.4 0 0.0 0 0.0 5 8.8
REA 2 0.5 1 0.6 0 0.0 0 0.0 0 0.0 1 1.8
EHEER 385 99.2 166 99.4 88 100. 0 37 97.4 37 97.4 57 100.0
P BEHL 383 98.7 165 98.8 87 98.9 37 97.4 37 97.4 57 100.0
;;E’ BEHY 2 0.5 1 0.6 1 1.1 0 0.0 0 0.0 0 0.0
REHEE 3 0.8 1 0.6 0 0.0 1 2.6 1 2.6 0 0.0
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
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2) @BR—REEZEZZDAR (ERBERRD)
BRSNS FERTRRELREE

(2) ¥8EE (&) (£02) (S5 FE)
BN tE HEH EEET FESKET hRE EEET
A % A % A % A % A % A %
2 E X 388 100.0 167 100.0 88 100.0 38 100.0 38 100.0 57 100.0
BEAGL 288 74.2 125 74.9 66 75.0 27 7.1 24 63.2 46 80. 7
BEEHY 100 25.8 42 25.1 22 25.0 11 28.9 14 36.8 11 19.3
5 ERBHRE 12 3.1 5 3.0 3 3.4 1 2.6 2 5.3 1 1.8
ERERE 5 1.3 1 0.6 1 1.1 1 2.6 2 5.3 0 0.0
SR (H) 83 21.4 36 21.6 18 20.5 9 23.17 10 26.3 10 17.5
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
F YR I I AE AR B 3 0.8 1 0.6 2 2.3 0 0.0 0 0.0 0 0.0
miE 3 0.8 1 0.6 2 2.3 0 0.0 0 0.0 0 0.0
ZB8R 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
BE REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
%{%0) =yl 60 15.5 24 14.4 11 12.5 1 18.4 10 26.3 8 14.0
MER | HERE 13 3.4 5 3.0 1 1.1 1 2.6 3 7.9 3 5.3
PEIRER 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
Hi 1 20 5.2 1 4.2 10 11.4 2 5.3 1 2.6 0 0.0
B E 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
- VAR E 20 5.2 1 4.2 10 11.4 2 5.3 1 2.6 0 0.0
’}If BB 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
a8 REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
k) 11 2.8 6 3.6 2 2.3 1 2.6 0 0.0 2 3.5
REEA 3 0.8 2 1.2 0 0.0 0 0.0 0 0.0 1 1.8
ERHEZAEEEE (EA8)
REEH 9 2.3 4 2.4 2 2.3 1 2.6 2.6 1 1.8
THETA~ ZHETE 180 46.4 77 46. 1 49 55.7 14 36.8 4 36.8 26 45.6
DEHE ZELL 176 45.4 81 48.5 26 29.5 21 55.3 19 50.0 29 50.9
8 REEA 23 5.9 5 3.0 11 12.5 2 5.3 10.5 1 1.8
FEEEDFE (EAR)
7L 363 93.6 160 95.8 79 89.8 35 92.1 34 89.5 55 96.5
- HY 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
)If REEA 25 6.4 1 4.2 9 10.2 3 7.9 4 10.5 2 3.5
8 A% 1 0.3 1 0.6 0 0.0 0 0.0 0 0.0 0 0.0
k) 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
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3) ER—RERZEZZRR (EEEEZRIES) (F01)
B AN EERTRREELRES
($705 F )

= tEmH FIvET™ EEE FEEKET th e & ET
A % A % A % A % A % A %
2 2 EF M 432 | 100.0 207 | 100.0 90 | 100.0 38 | 100.0 36 | 100.0 61 | 100.0
E®OBUT 129 29.9 68 32.9 19 21.1 12 31.6 9 25.0 21 34.4
2 |E®R31I~50B%KE 303 70. 1 139 67.1 71 78.9 26 68. 4 27 75.0 40 65. 6
Wl [EE%508 AR 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
N BEAL 392 90.7 188 90.8 84 93.3 33 86.8 35 97.2 52 85.2
”mﬁ@ BEHY 32 7.4 15 7.2 6 6.7 3 7.9 1 2.8 7 11.5
T |&kEA 8 1.9 4 1.9 0 0.0 2 5.3 0 0.0 2 3.3
i BES % 332 76.9 161 77.8 67 74.4 32 84.2 22 61.1 50 82.0
%it EELL] 97 22.5 43 20.8 23 25.6 6 15.8 14 38.9 11 18.0
REEA 3 0.7 3 1.4 0 0.0 0 0.0 0 0.0 0 0.0
Skgll £ D 11 2.5 4 1.9 4 4.4 1 2.6 1 2.8 1 1.6
|0~ SkeR B 53 12.3 20 9.7 13 14.4 5 13.2 7 19.4 8 13.1
i@ [0~bkekiED1E 239 55.3 113 54.6 53 58.9 21 55.3 19 52.8 33 54. 1
iy |5~ 1Oke RO 113 26.2 62 30.0 15 16.7 10 26.3 8 22.2 18 29.5
Lot |10kgl ED# 12 2.8 8 3.9 2 2.2 1 2.6 0 0.0 1 1.6
) RIEEA 4 0.9 0 0.0 3 3.3 0 0.0 1 2.8 0 0.0
KI139LLT  /NBILLT 408 94. 4 203 98. 1 82 91.1 35 92.1 35 97.2 53 86.9
MmE |K140~159 /N90~99 19 4.4 3 1.4 7 7.8 3 7.9 1 2.8 5 8.2
(mmHg) | X 16051 /MO0LLE 5 1.2 1 0.5 1 1.1 0 0.0 0 0.0 3 4.9
REEA 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
- =+ 418 96. 8 198 95.7 88 97.8 38 | 100.0 36 | 100.0 58 95. 1
§ +LE 11 2.5 6 2.9 2 2.2 0 0.0 0 0.0 3 4.9
REA 3 0.7 3 1.4 0 0.0 0 0.0 0 0.0 0 0.0
Ri&E

-tk 427 98. 8 203 98. 1 89 98.9 38 | 100.0 36 | 100.0 61 | 100.0
P[0k 1 0.2 0 0.0 1 1.1 0 0.0 0 0.0 0 0.0
REA 4 0.9 4 1.9 0 0.0 0 0.0 0 0.0 0 0.0
10 ki 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0 0 0.0
10.0~10.5 &% 2 0.5 1 0.5 0 0.0 0 0.0 0 0.0 1 1.6
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